CHAPTER 15 PROBE QUESTIONS:
-P.261

1. -Can someone diagram two contingencies involved in Sid’s correct posture: make him stand straight and keep his standing straight
2. -What was the click the timer made?  
· WARNING STIMULUS, always preceded aversive tone by 3 seconds

· If Sid maintained erect posture continuously, would not only avoid aversive tone but also would avoid warning stimulus

· Avoidance contingency are a type of reinforcement contingency
-P.263
3. -Can someone explain the contingency used with the three kids?
· Used avoidance of time-out with three kids: each student could avoid time-out from the classroom by being on task-by working hard

· Set a timer and if working hard when rang, got to stay in classroom

· If goofing off etc. went into hall for 3 min.

· Avoidance of loss of reinforcer (being in classroom)

-P.265

4. -Can someone explain the differences between escape and avoidance? 
· Avoidance-prevents an aversive condition from being presented/received

· Escape- (causes) removal an aversive condition that has already been presented
-P.266-267
5. -What are four types of avoidance?
· Four types of avoidance:  CUED, CONTINUOUS-RESPONSE AVOIDANCE, NONCUED, AVOIDANCE OF LOSS OF REINFORCER

· CUED: escape/avoidance contingency, warning stimulus is the cue

· Buzzer is the warning stimulus b/c it occurs before the aversive stimulus; but initially buzzer is neutral stimulus, after repeated pairing with aversive stimulus buzzer becomes aversive

· PAIRING PROCEDURE

· CONITNUOUS-RESPONSE AVOIDANCE:  could avoid the click (cue/warning stimulus) and the aversive tone by continuously maintaining good posture

· Isn’t essential that continuous response-avoidance involve package deal like the combo of click and tone or buzzer and shocks; avoiding buzzer also examples 

· NONCUED AVOIDANCE: no obvious so called warning stimulus

· If rat presses lever every 1.9999 second. will postpone a shock, scheduled to come on every 2 seconds.

· AVOIDANCE OF LOSS: remove dish every 20 seconds and keep it out of Skinner box for 10 second but if rat pulls chain, will not bother for 30 seconds.  If pull chain every 29.999 seconds. will completely avoid loss of water
-P.267-268

6. -Can someone explain the difference between penalty and avoidance contingencies?
· PENALTY-reinforcer is removed if a specific response occurs

· AVOIDANCE-reinforcer is removed if specific response doesn’t occur: removals not contingent on the response (keeping it is)
-P.268

7. -Can someone explain Avoidance of aversive condition vs. Punishment?
· What we consider the crucial response determines how we look at the contingencies: we can distinguish between the two contingencies

· Roll over dead-man: use the opposite response and change contingency; usually when think have punishment have avoidance
-P.270

8. -Can someone diagram avoidance of loss of reinforcer vs. penalty contingencies?
9. -Can someone explain warning stimulus vs. discriminative stimulus?
· Must have the warning stimulus on before its termination is reinforcing, let alone before it’s permitted.  But don’t need an SD before after condition is reinforcing

· WARNING STIMULUS: immediately precedes aversive conditions and thus become learned aversive conditions (through pairing) that organism will work to escape.  Therefore, look at presence of warning stimulus as before condition- you must have warning stimulus on before its termination is effective

· SD: correlated with the availability of the escape/avoidance response being successful-will terminate buzzer (ws) and prevent the shock (ac)

